

Revisiting Factoring Quadratics

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the [Zero-Product Property](#)

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \qquad \text{OR} \qquad (x + t) = 0$$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Replacing $s = -r_1$ and $t = -r_2$ in our factored form, we have:

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Replacing $s = -r_1$ and $t = -r_2$ in our factored form, we have:

$$x^2 + bx + c = (x - r_1) \cdot (x - r_2)$$

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Replacing $s = -r_1$ and $t = -r_2$ in our factored form, we have:

$$x^2 + bx + c = (x - r_1) \cdot (x - r_2)$$

So, we can write our factored form in terms of our roots r_1 and r_2

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Replacing $s = -r_1$ and $t = -r_2$ in our factored form, we have:

$$x^2 + bx + c = (x - r_1) \cdot (x - r_2)$$

So, we can write our factored form in terms of our roots r_1 and r_2

Because we can always find the roots from the Quadratic Formula, we can write *any* quadratic in factored form.

Revisiting Factoring Quadratics

Recall: We saw that to factor quadratics we write:

$$x^2 + bx + c = (x + s) \cdot (x + t)$$

We began factoring to find roots to quadratic equations:

$$x^2 + bx + c = 0$$

Using the factorization, we could re-write the left hand side as:

$$(x + s) \cdot (x + t) = 0$$

Once factored, we could split the equation up with the ▶ Zero-Product Property

$$(x + s) = 0 \quad \text{OR} \quad (x + t) = 0$$

Then, each of these equations were easy to solve: $x = -s$, $x = -t$

In other words, the two roots are: $r_1 = -s$, $r_2 = -t$

Replacing $s = -r_1$ and $t = -r_2$ in our factored form, we have:

$$x^2 + bx + c = (x - r_1) \cdot (x - r_2)$$

So, we can write our factored form in terms of our roots r_1 and r_2

Because we can always find the roots from the Quadratic Formula, we can write *any* quadratic in factored form.

Before the quadratic formula, we could only factor quadratics with roots that are integers.